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OHENMAMSIEXZ 100,000& =12 1,200
oHlIHY = 60,0002 12& 720
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OsZJImX&el 300,000& *4CH«12& 14,400
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202 o4 Hl 10,920 10,920 0
01 =LHOIHI 10,920 10,920 0
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1MIIEBESS 2,400 2,400 0
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OZMIAH Il WX+ & 1,700, 000% *1CH 1,700
OZHHAUNZEBANAE(HXIATR) EF &
mps| 5,000, 000 *5CH 25,000
ogsEaIIUHAE 4D Y
500,000& =204 1,000
02 = A7l 2,500 5,000 A 2,500
OSENEZZMTY 25,000& 100 2,500
e s22dY 238,396 222,581 15,815
et s34 238,396 222,581 15,815
nygsa 29 238,396 222,581 15,815
101 1A bl 57,636 45,821 11,815
M4 II12HHZ22NSES 57,636 45,821 11,815
Clnde=a JIZ2HIZ2XNES 57,636
Ongesa 222y
41,6803 «2452 «3H 30,635
Osd=¢ 62,5203 x68+3Y 12,755
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203 ¥R =Xt 1,000 1,000 0
03 A F=X SR =XIH| 1,000 1,000 0
ozZgasd & 20,000& x10¥ 53| 1,000
33 29 267,858 210,775 57,083
101 @121l 102,657 84,152 18,505
04 JI2ZtH2Z2XNEE S 102,657 84,152 18,505
ozZgzsd&A2 o2 63,663
OFXAHE 41,6803 »3H x 150 18,756
Oozgsaael 41,6803 *3H 150 18,756
Ose=22sg 62,5203 x6H x30 11,254
ORzsgxg 41,6803 x6H 25 6,252
(@ sa=1= g~ 41,6803 x6Y 7 1,751
o4 6,894
—20HAZ2EHZ 56,769,000 x4 .5% 2,555
—MHEEZ 56,769,000& *3. 1% 1,760
—EE8a 56,769,000& x1.5% 852
— A28 s 56,769,000& *2.945% 1,672
— A RYEBEE 1,672,000& *3.275% 55
Ol+2% &L SJIL 829 o2 23,877
OolgxxeA 3,535
—QHIRAXTRA 70,000 124 %24 1,680
—522FY 105,000& x1H 13 1,365
-85 70,000 x 1 x5 350
—23&)=E 70,000& x 1 %2 140
OelEIAXE X 2 22 8,422
—QolEIAXE X 2 2e 41,680%4H x24 4,002
—522F2xg 62,5203 x4 13 3,252
—-8=2852d4d 41,680 x4 5 834
—S=53tx=g 41,6803 x4H 2 334
OZHE 42 HE 8,422
—dHE 2 = 41,6803 x4 24 4,002
— 524225 62,5203 *4H %13 3,252
—Ss5gxY 41,6803 x4H 5 834
—S=5tx=g 41,6803 x4 2 334
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— =S RE3 28,800,000& *4.5% 1,296
—MHESER 28,800,000& *3. 1% 893
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o PR 849, 0002 +3.275% 28
CEEEIEEI-TIE
83,9802 +5% 92 #43] 15,117
201 L2yl 97,941 79,323 18,618
01 AL 22l 9,115 6,000 3,115
ON4ZUZYTH SYSE 2
5000002 122 6,000
ONH+E2Y 225 7Y 500,000% +28 1,000
OWAEX +HAMN 228 300
OMHH Y HHIYXZ(0.6m2)
605, 0002 *3CH 1,815
02 ZZ2YH| 88.826 73,323 15,503
CEEPREI=E 250,0002! 43| 1,000
CEHELI-EIETE]
3000002 37} 2 131 900
OLIZHIIZ Hel2p 442 14,850
OHl 47| 15021 x200kg 302 *92 8,100
O& 15024 «500Kkg 302 *32 6,750
ONZYPUTANLSEIIQS
100, 0002 *47H 2 122 4,800
ORYBAFTNZAIIQS
100, 00081 *47H 2 122 4,800
CEERES E 3 bll== 400, 0002 *122 4,800
OFMNBHEA BHNVUEHEHRS
150, 0002 *122 1,800
ONZYAPYTBANILERS
1,200,000% * 122 14,400
ORUTHW YESUWH RIS
100, 0002 * 15/ » 122 1,200
O el 500, 0002 * 12 6,000
OXNZULEHO, AN A2
1,000,000 +12% 12,000
ORYTEANLE KXY 22,276
OFIIANERZ2IH  500,0008 =44 A +23] 4,000
O R 1,172 %2, 4702 2,895
OOt ® L F=XE SN2l
6,207 x2,470! 15,381
206 T2 bl 5,000 5,000 0
01 HEHI 5,000 5,000 0
OH+EHSYABLNEAY
500,000 *5% *23] 5,000
307 ©I240| ™ 23,760 21,600 2,160
05 BI2t9IEr 3 23,760 21,600 2,160
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oM=Lz AU 23,760
OZg33s&Ea 330,000& *3H A +122 11,880
OZsH=2FXsaa
330,000& *30H A +122 11,880
401 A& HIZ 201 I 35,000 20,000 15,000
01 A& HI 35,000 20,000 15,000
Ool+==&&x & EHA 15,000, 0003 * 1Al 15,000
ORUZAEMUE WA U &X
20,000,000 * 14! 20,000
405 TtabF S| 3,500 700 2,800
01 et EFSFHSHI 3,500 700 2,800
QuHII—7 500,000& »2CH 1,000
OEHOFY 2,500, 000 *1CH 2,500
TE3Y 224 65,500 31,500 34,000
206 M= Hl 25,500 21,500 4,000
01 M= 4l 25,500 21,500 4,000
Ost=8NL =37 F+ 6,000,000& =33 18,000
ASYHAHUNES T 2,500
(©FSi ][R =gl 5,000
401 AIEHI L 20 40,000 10,000 30,000
01 A& HI 40,000 10,000 30,000
OMZARUTAU ZANY
30,000,000& » 14! 30,000
OZEHS2SH 224 10,000, 000& 14! 10,000
TEHIE AEHH 147,700 20,000 127,700
201 Let24d] 2,700 0 2,700
01 At 22/l 2,700 0 2,700
OZEHIJANEME 235 #+&  100,000& 122 1,200
OEXNNY 5z L 2F242
200,000& 6 & X 1,200
OEXNNMHY SJ=== 50,000 x6 & Xl 300
401 AIEHI L 2 CHYI 145,000 20,000 125,000
01 A& HI 145,000 20,000 125,000
ONZAPYTH SHHFHIA
20,000,000 * 1Al 20,000
Ofl==Z&St=ANE LIS A
25,000,000 * 14! 25,000
OZE=AIIAUW HIAZE IS A
20,000,000* 14 20,000
OMZARPUBATHHEHN LB
30,000,000& » 14! 30,000
oM=L =dZEHISA 50,000,000& =14 50,000
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HF2F A 49,942 65,118 A 15,176

J2ZH(LEZELS AL L) 49,942 65,118 A 15,176

HEFAFH 3,000 3,000 0

203 ¥ S =&l 3,000 3,000 0

04 FENSEHR=LH| 3,000 3,000 0
ORN2IYSF=AHI 250,000& 128 3,000

2 B2 A 13,342 21,318 NT,976

201 Let24E] 13,342 21,318 NT,976

01 At 2t 2l 11,722 18,702 6,980
o=t 2,822
OZgHEHFY 100,000 *3CH »23] 600
OZet=ADIEHTY 500, 000& »23] 1,000
OZAZEHELHFY 800,000& =23l 1,600
OMERESTY 400,000& x12& 4,800
O=AIIRANE = 300,000& =23l 600
OWAIRAE 100,000& *33l 300

02 =224l 1,620 2,616 A 996
oORER= 1,620
Oes 3403 100 1228 408
OsJl 2,020 508 128 1,212

04 bl 33,600 40,800 AT7,200

202 (44l 33,600 40,800 AT7,200

01 SLHOIYI 33,600 40,800 AT7,200
OJlegR+=a8 0l 200,000& x14H « 123 33,600




